Cable diagram for the 05 used with D2-HPP and DV-1000 7-7-99

Note: this cable must be used with the DI-05 when the DV-1000 or the D2-HPP
are used with port 2. Pin #2 and #5 are connected in the D2-HPP and DV-1000,
so the RTS signal (pin 5) of the DLO5 is shorted to 5V when connected to the
devce. As a result, when the DL0O5 turns on, the RS-232C driver IC in the DL0O5
can't start up correctly and the communication between the DLO5 and the D2-
HPP/DV-1000 can fail.

DL-05 D2-HPP and DV-1000
oV 1 6 oV
5V 2 5 5V

RXD 3 4 | TXD
TXD 4 3 | RXD
RTS 5| ————— Do notconnect ——— | 2 | 5V
oV ) 1 oV
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